Prevody jednotek

skupina A
35,2 km =
0,68 m?=
16 dl = -
52 min =
1254 mm =
692 cm? =
17,351=
448 min =
0,35dm =

2 h 37 min =
47 dm? =
5,6 hi=
369g =
0,023 cm =
53 min =

65 km/h =
36,8 ml =
3km?=

3 650 mm? =

23,5m?=
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Pfevody jednotek

skupina B

0,27 km = 27 -
0,73cm = o, 0023 m
1259 ml = 0, 125F [

13 min = 0,27 éh h
13,8 hl = 7280 |
24g = O, 024 kg
24 min = :9/ o h
29 min = 7 240 s
365,351 = 0, 3653 m?
4h 43 min = 7é 9,0
5581mmi= O 005 587 m?
51cm?= £ oo s+ m?
526 dm’ = 0,582 L m3
68,2 m’ = SR Ppoo cm?
7 884 mm = e m
8,5 km?®= & SPO 00pTOOM?
82,5m? = g2 s© dm?
861dl = £e, 1 [
92 km/h = e C_s? m/s
0,03 dm = 0,003 m




